Bastad BK
Aggatavling 24 brickor 2019-04-15

Partavling, 10 bord, 19 par. Antal brickor: 24. Medel: 192.4. Frirond (*) ger egen procent.

Plac Par Poéang % Namn MID Klubb
1 19 255.0 66.41 Per-Olof Eriksson - Erik Tornvall 9903 52901 Sandvikens BK - Vastra Bjare BK
2 11  252.0 65.63 Rune Félth - Peter Wallin 10681 5665 Vastra Bjare BK
3 8 2455 63.92 Per Giléus - Inger Giléus 22654 16088 Vastra Bjare BK
4 2 241.1 62.78 Agneta Edbergh - Anders Olsson 12217 4950 Vaéstra Bjare BK
5 6 218.2 56.82 Agneta Aicardi-Holmstrom - Henrik Widengren 50831 67316 Vastra Bjare BK - Laholms BK
6 1 210.5 54.83 Kerstin Plantin - Rolf Plantin 31129 84896 Bastad BK
7 12 207.3 53.98 Per Eklund - Ann-Sofie Lanner 87581 87580 Lomma BK
8 17 197.0 51.30 Sven Larsson - Elisabeth Larsson 55815 55814 Bastad BK
9 18 195.0 50.78 Siv Bernstein - Borge Gullgren 36627 20647 Vastra Bjare BK
10 4 189.8 49.43 Marianne Gabrielson - Géran Ramfors 44100 88010 Bastad BK
11 9 186.5 48.58 Leif Bernhard - Anita Bernhard 25943 25942 Vastra Bjare BK
12 7 183.3 47.73 Boris Larsson - Harald Nilsson 12220 43856 Vastra Bjare BK
13 5 1745 45.45 Eva Svensson - Bjorn Svensson 90682 90683 Bastad BK
14 14 160.0 41.67 Monica Melén Beijer - Christine Jallander 62031 63303 Bastad BK
15 15 159.0 41.41 Margareta Carling - Gunilla Olander 29078 94315 Vastra Bjare BK
16 10 151.6 39.49 LenaJensen - Ingrid Oscarson 39210 26173 Vastra Bjare BK
17 20 146.0 38.02 Gunvor Nilsson - Rune Nilsson 32766 87285 Vastra Bjare BK
18 3 142.9 37.22 Birgit Nyberg - Birgitta Jeppsson 85628 27840 Vastra Bjare BK - Bastad BK
19 16 1410 36.72 Laila Karlsson - Birgitta Sjogren 55709 18574 Véastra Bjare BK
1 « ED985 Bésta kontrakt 2 & EKn5 Bésta kontrakt 3 «D8 Bésta kontrakt
Nord v3 3NTOD-1100 |Ost v EDKn85 3NT N =600 Syd v DKn975 34 O =-140
Ingen ¢ EKn32 NS + K10 ov 4987
#1082 & ¢ v & NT #EKD & ¢ v & NT #DKn8 & ¢ v & NT
4Kn64 410732 N496 65 4 K874 4D32 N9 89 89 41065 4« EKn743 N46 846
v E52 vKD76 S 49665 v76 v K943 S 989838 v K43 v2 S 46846
+ KD5 +4 09 476 8 +D982 ¢ E64 035353 ¢+ Kn1064 ¢ K3 087596
#KDKn4 &E963 V9476 8 #Kn53 #742 V35453 *K42 #E10653 V87586
oK 41096 & K92
vKn10984 v 102 vE1086
4109876 ¢+ Kn753 ¢+ ED52
*75 10986 *97
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
11 3 2v0-2 4K 100 150 1.0| 6 14 3NN+1 v4 630 16.0 00| 8 10 1vDN+1 &A 260 16.0 0.0
18 10 34 V-2 v3 100 150 1.0|12 15 4v N= ¢A 620 140 20| 1 15 2¢v N+1 A 140 12.0 4.0
4 17 3¢ N-2 *A 100 11.0 5.0| 7 9 3v N+1 ¢A 170 120 40|17 5 2v N+1 v2 140 12.0 4.0
7 9 3¢ N- *A -100 11.0 50| 4 17 2v N+1 ¢4 140 80 80|19 3 3vS= T 140 120 4.0
6 14 34 0= oK -110 80 80|11 3 1v N+2 ¢A 140 80 80| 6 20 2v N= A 110 70 9.0
16 8 INO+2 oK -150 50 11.0(19 2 2v N+1 &2 140 80 80| 9 16 2¢v N= ¢K 110 70 9.0
20 5 2NV +1 a5 -150 50 11.0{20 5 2NN= v4 120 40 12012 4 3vyN-1 *A -50 40 120
12 15 2NV +2 *2 -180 20 140|16 8 2y N= «2 110 20 140(11 18 4vy N-2 a A -100 20 14.0
19 2 3NV= v3 -400 0.0 16.0|18 10 4v N-1 a2 -100 00 16.0|14 7 34 0= vA -140 0.0 16.0
-1 88| - 1 88| - 2 10.0
4 4« ED9643 Basta kontrakt 5 4952 Basta kontrakt 6 497 Basta kontrakt
Vast v K942 5¢ V D -2 500 Nord v- 64 V =-980 Ost v K94 ANT S =430
Alla ¢ E NS ¢ EKKn753 ov + DKn105
&75 & ¢ v & NT #D1063 & ¢ v & NT #9732 & ¢ v & NT
482 41075 N7 4 10107 4 EDKNn1087 4 K643 N9 9000 4 DKn854 41063 N9 116 7 10
vE5 v Kn87 S 7 4 10107 vEKD vKnl10863 S 9 9 0 0 O v E853 vKn762 S 9 116 7 10
¢+ D876432 ¢ KKn 059 333 4942 +D O3 3 10117 4742 +9 042752
+K10 #E9632 V59333 *2 *EK8 vV 3 3 10127 «10 #KD854 V42752
& KKn .- & EK2
vD1063 v 97542 vD10
41095 + 1086 + EK863
#DKn84 #Kn9754 #EKn6
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
14 7 44 N= +K 620 160 00| 6 17 6v O-3 +6 150 160 00| 1 5 3NS= «Q 400 90 7.0
1 15 34 N= A 140 80 80[(15 2 4v0O-1 *T 50 140 20| 4 19 3NS= 45 400 9.0 7.0
6 20 24 N+1 A 140 80 80| 1 5 4eV= + K -420 120 4.0| 9 11 3NS= 45 400 9.0 7.0
8 10 24 N+1 v7 140 80 80|10 16 44 V+1 +K -450 90 7.0[10 16 3NS= 4Q 400 90 7.0
11 18 24 N+1 3 140 80 80[(20 7 4vO+1 *T -450 90 7.0[14 8 3NS= a4 400 9.0 7.0
12 4 34 N= +K 140 80 80| 4 19 44 V+2 *A -480 3.0 13015 2 3NS= 4Q 400 9.0 7.0
17 5 34 N= ¢+K 140 80 80| 9 11 44 V+2 +K -480 3.0 13.0|18 12 3NS= a4 400 90 7.0
19 3 3v N= ¢K 140 80 80|14 8 44 V+2 ¢ A -480 3.0 13.0[20 7 3NS= 44 400 9.0 7.0
9 16 4¢ V-1 &7 100 0.0 16.0|18 12 44 V+2 ¢ A -480 3.0 13.0| 6 17 3NS-1 a4 -50 0.0 16.0
-2 100| - 3 60| - 3 6.0
7 49 Bésta kontrakt 8 41054 Bésta kontrakt 9 4985 Bésta kontrakt
Syd v Kn842 44 S =130 Vast v 1094 64 N D -3-500 Nord vD1095 6NT O =-1440
Alla + KD843 Ingen + Kn10653 ov 52
*E64 & ¢ v & NT »82 & ¢ v & NT #9874 & ¢ v & NT
4 EKn103 #4D7654 N 106 8 4 6 +E 476 N531091 476 4EKDKN103 N1 0 4 0 0O
vE9 v 1063 S 107 8 4 7 v72 vEKDKNn853 S 5 3 1 9 1 v EKn v K76 S10400
¢ EKn5 49762 036394 ¢ EKD742 +98 O 7 10124 11 ¢+ EK1073 ¢ D6 O 12129 1212
#9832 &7 V36394 #Kn1096 #KD vV 7 10114 11 #KDKn10 #32 V 12129 1212
4 K82 4 KDKn9832 442
vKD75 v6 v 8432
+ 10 .- + Kn9g4
#KDKn105 #E7543 »E65
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
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2 6 4v S= aA 620 150 10| 2 6 54 S-2 v7 -100 140 20| 2 18 44 O+2 +8 -680 16.0 0.0
8 20 4v S= aA 620 150 10| 8 20 44 S-2 *A -100 140 20|11 1 3NV+3 +5 -690 14.0 2.0
19 5 3v S+2 T 200 120 40|19 5 54 S-2 *A -100 140 20| 3 7 64 0= &A  -1430 7.0 9.0
1 18 3v S+1 «T 170 90 70|15 3 5v0= &K -450 100 6.0|14 10 64 O= &A  -1430 7.0 9.0
10 12 2v S+2 aA 170 90 7.0| 7 17 5v O+1 A -480 50 11.0(15 4 64 O= &A  -1430 70 9.0
14 9 2NS+1 aA 150 6.0 10.0(10 12 4v O+2 A -480 50 11.0(16 12 64 O= &A  -1430 7.0 9.0
15 3 2¢ N+1 &7 140 40 12014 9 4v O+2 A -480 50 11.0|17 8 64 O= &A  -1430 7.0 9.0
16 11 3v N-1 &7 -100 20 14.0(16 11 5v O+1 A -480 50 110|120 9 64 O= &A  -1430 70 9.0
7 17 4v N-2 &7 -200 0.0 16.0( 1 18 6v O= A -980 0.0 16.0| 6 19 6NV +1 v9  -1470 0.0 16.0
- 4 791 - 4 791 - 5 7.3
10 # Kn96 Basta kontrakt 11 «E104 Basta kontrakt 12 «E762 Basta kontrakt
Ost v KKn87 34 O =-140 Syd v9 34 VD-1100 Vast v EK65 ANT S =630
Alla 4875 Ingen + D10652 NS + 984
#K32 & ¢ v & NT #KKn106 & ¢ v & NT &74 & ¢ v & NT
& K852 4 E43 N536 314 4 D873 4 Kn965 N6 8956 4 DKn54 483 N 8 108 109
v- v E10952 S53634 v 52 v EK6 S6 8956 vKn9 v D10872 S 9 108 1010
¢ EKKn102 ¢ D64 079798 ¢+E74 ¢ Kn98 O75487 ¢ DKnl0 ¢ 763 O4 3533
#10765 D8 V79798 #E932 &D75 V75487 #KD106 532 V 43533
4 D107 & K2 4« K109
v D643 v DKn108743 v43
+93 + K3 + EK52
#EKn94 &84 #EKn98
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
11 1 56 V-2 v8 200 150 10|15 5 3vS+1 v2 170 16.0 00|19 7 INS+4 a4 210 16.0 0.0
20 9 34V-2 v7 200 150 10| 4 8 3vS= v5 140 100 6.0|15 5 INS+2 &K 150 140 20
2 18 3NV-1 v8 100 100 6.0|12 2 3v S= a7 140 100 60| 4 8 24 N= +3 110 9.0 7.0
15 4 34 V-1 v7 100 100 6.0|14 11 3v S= v5 140 100 6.0[|12 2 2v S= 48 110 90 7.0
17 8 3¢ V-1 v7 100 100 6.0[16 1 3v S= v5 140 100 6.0|17 9 2¢ S+1 v] 110 9.0 7.0
14 10 3¢ V= &2 -110 6.0 10.0|19 7 3v S= 43 140 100 6.0[18 3 1¢ S+2 &K 110 9.0 7.0
6 19 INO +2 *4 -150 40 12.0|10 20 34 O-2 +3 100 40 120(16 1 INV-2 a2 100 4.0 12.0
3 7 3NO= &4 -600 1.0 150(17 9 3¢ N-1 vK -50 1.0 150|114 11 1sV-1 +9 50 20 140
16 12 3NO= &9 -600 1.0 150(18 3 4v S-1 43 -50 1.0 150|110 20 3NS-1 &T -100 0.0 16.0
- 5 73| - 6 91| - 6 9.1
13 4 DKn976 Basta kontrakt 14 a4 Basta kontrakt 15 4 KD943 Basta kontrakt
Nord v K7 2NT O =-120 Ost v K1087 4¢ S =130 Syd v DKn62 5v S =650
Alla 4 Kn532 Ingen + EK1086 NS +10
£94 & ¢ v & NT &ED9 & ¢ v & NT #EKn3 & ¢ v & NT
4E1085 442 N57 575 « EK107 4 D983 N 4 106 5 7 4« Kn105 4 862 N6 7 119 10
v8 vEKn10964 S 5 7 4 7 5 v5432  vED6 S 4 106 5 7 v9 v E874 S 6 7 119 8
+ D976 ¢+ K4 O8 6 858 +5 ¢ 92 O8 3686 + KDKn854 46 O76 233
#Knl075 #E82 V 85 858 #K1074 #Kn852 V 8 36 86 #K108 &D7652 V76233
4 K3 4 Kn652 aE7
v D532 vKn9 v K1053
+ E108 ¢+ DKn743 ¢+ E9732
#KD63 #63 94
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
11 20 2v O-2 K 200 16,0 00| 1 3 2¢ N+3 v6 150 150 1.0 9 19 3NN+2 &5 660 150 1.0
1 3 3v0O-1 4K 100 13.0 3.0(11 20 2¢ N+3 &2 150 150 1.0(17 11 3NN+2 &7 660 150 1.0
18 4 2v0O-1 4K 100 13.0 3.0(17 10 2¢ N+2 48 130 110 50| 6 10 4vy N+1 +6 650 120 4.0
5 9 2vO= &K -110 90 7.0|118 4 2¢ N+2 49 130 110 50| 2 4 4v S= +K 620 9.0 70
8 19 2v0O= &K -110 90 7.0 8 19 INN+1 &2 120 80 80|20 12 4v S= +K 620 9.0 70
14 12 2v O+1 *6 -140 40 12.0(16 2 34 V-1 *A 50 6.0 10.0|18 5 24 N+3 +6 200 6.0 10.0
15 6 2v O+1 *A -140 40 120 5 9 2NN-1 &8 -50 30 130| 1 14 24 N+2 +6 170 3.0 13.0
17 10 2v O +1 +8 -140 40 12014 12 5¢ N-1 &8 -50 3.0 13.0|16 3 24 N+2 +6 170 3.0 13.0
16 2 2v O+2 +8 -170 0.0 16.0(15 6 24DO= vJ -470 00 16.0(15 7 4v N-2 +6 -200 0.0 16.0
7 - 7.6 7 - 7.6 - 8 10.2
16 + 106 Bésta kontrakt 17 & K765 Bésta kontrakt 18  DKn64 Bésta kontrakt
Vast v 87643 4y N =420 Nord v EK854 5# N =400 Ost v KDKn97 54 S =650
ov + 54 Ingen .- NS +3
#ED75 & ¢ v & NT #Kn876 & ¢ v & NT #1094 & ¢ v & NT
49542  «DKn8 N 104 106 6 4ED4 410983 N 115 8 7 7 482 41093 N 106 9 117
v K9 vE2 S 104 106 6 v10963 vKn7 S 105 8 7 7 v 382 v E1054 S 106 9 117
+D8763 ¢EKKNn109 O3 8 3 7 7 410765 ¢ EKKn83 0285675 ¢ KKn1097 ¢ E862 037326
104 #832 V38377 &D5 &E4 V275675 #Kn863 »72 V37326
& EK73 & Kn2 & EK75
v DKn105 vD2 v 63
*2 + D942 + D54
#KKn96 #K10932 #EKD5
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1 14 2v S+2 +6 170 130 30| 3 5 3¢ 0-2 vQ 100 13.0 3.0| 8 15 44 S+1 v8 650 150 1.0
6 10 2v N+2 ¢K 170 13.0 3.0| 8 15 3¢ O-2 vQ 100 13.0 3.0|19 10 44 S+1 *J 650 150 1.0
16 3 2v N+2 48 170 130 30|16 4 24 0O-2 vQ 100 130 30| 7 11 44 S= *7 620 110 5.0
18 5 2v N+2 ¢A 170 13.0 3.0|19 10 3¢DO-1 vQ 100 130 3.0(18 6 44 S= v8 620 11.0 5.0
2 4 INO= vQ -90 50 11.0(14 2 3+ 0O-1 v2 50 70 90|17 12 3NS= *J 600 80 80
9 19 INO= vQ -90 50 11.0|18 6 2¢ O-1 vQ 50 70 90|14 2 44 S-1 *T -100 5.0 11.0
15 7 INO= aA -90 50 110| 7 11 44 S-1 vT -50 30 13.0|16 4 3NS-1 *J -100 5.0 11.0
17 11 INO= vQ -90 50 11.0|20 1 2vS-1 A -50 30 130| 3 5 3NS-2 T -200 20 140
20 12 3¢ O= aA -110 0.0 16.0|17 12 3v N-2 ¢ A -100 00 16.0(20 1 3NS-3 *7 -300 0.0 16.0
- 8 10.2| 9 - 7.8 9 - 7.8
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19 4 Kn9 Basta kontrakt 20 4 EKNn10842 Basta kontrakt 21 48742 Basta kontrakt
Syd v 1053 4¢ SD-1-100 Vast vE4 5v V D -2 500 Nord v EK83 34 N =110
oV + K109865 Alla * 87 NS + D93
*E7 & ¢ v & NT «E108 & ¢ v & NT *96 & ¢ v & NT
« EK32 «D1074 N7 9446 « KD9 463 N 118 4 107 4Knl05 «ED96 N9 86 66
vKDKn92 v874 S79546 v KDKn873 v 10965 S 118 4 107 vKn765 vD104 S 98666
¢+E 732 042895 *4 ¢ KD1093 025935 ¢+ E64 41082 045676
#Kn98 #543 V428295 #KD3 *96 V25935 #1054 #EK2 V44676
4 865 475 « K3
vEG6 v2 v 92
¢ DKn4 ¢ EKn652 ¢ KKn75
#KD1062 #Kn7542 #DKn873
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 16 3v V-2 A 200 160 0.0[19 11 44DN= vK 790 160 00|19 12 14 0O-1 *Q 50 16.0 0.0
8 12 4¢ S= v4 130 120 40| 5 16 5¢vDV-2 #A 500 140 20| 2 17 INO= 3 90 130 3.0
15 9 34S+1 K 130 120 40| 8 12 4v V-2 +8 200 120 40(14 4 INO= &7 90 130 3.0
18 7 3¢ N+1 «Q 130 120 40(18 7 34 N= vT 140 100 60| 5 7 INO+1 3 -120 70 9.0
17 1 44 V-1 A 100 80 80| 3 14 4v V-1 A 100 40 120|110 15 INO+1 *7 -120 70 9.0
4 6 4¢ N-2 v8 -100 6.0 100| 4 6 4v V-1 +8 100 40 12018 8 INV+1 48 -120 70 9.0
3 14 1lv V+2 *A -140 30 13.0(15 9 4v V-1 «A 100 40 120|120 3 INV+1 v3 -120 70 9.0
20 2 34 V= *A -140 30 13.0(17 1 4v V-1 «A 100 40 120 9 1 INO+2 8 -150 1.0 150
19 11 2NS-4 vK -200 0.0 16.0|20 2 4v V-1 A 100 40 120|16 6 INO+2 *7 -150 1.0 150
- 10 63| - 10 63|11 - 105
22 4 K43 Bésta kontrakt 23 465 Bésta kontrakt 24 41074 Bésta kontrakt
Ost vED106 5v SD-2-300 Syd v Kn983 3v S =140 Vast vED106 5¢ VD-1100
oV ¢ 654 Alla + Kn8 Ingen ¢E
#D52 & ¢ v & NT #EKn863 & ¢ v & NT *K7652 & ¢ v & NT
4 EKN9 #108762 N8 39 33 497 «EKKn108 N 8 4 9 5 7 a- « D986 N9 3 6 106
vK932 vKn S839 33 v10752 vK S84957 vKn9873 vK5 S 9 3 6 106
¢ Kn73 ¢ EK1092 O 4 104 107 ¢ 9753 #EKDI10 049474 ¢ Kn1043 ¢ KD9875 04 107 3 5
#E103 76 V 4 104 108 D107 %942 V49474 #EKN98 #4 V 4 107 3 5
«D5 & D432 & EKKn532
v 8754 vED64 v42
+D8 ¢ 642 ¢ 62
#KKn984 *K5 «D103
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
19 12 2¢ O-1 8 100 150 10| 9 18 44 0O-1 ¢6 100 160 00| 5 14 44 S+1 A 450 150 1.0
20 3 INV-1 &2 100 150 10|19 1 140= +6 -80 140 20|17 3 44 S+1 ¢J 450 150 1.0
10 15 24 S= s A 90 120 40| 5 14 14 O+1 *K -110 70 9.0 6 8 44 S-= ¢J 420 110 5.0
9 1 INV+1 *5 -120 90 7.0 6 8 3¢ 0= 2 -110 70 9.0(19 1 44 S-= ¢3 420 110 5.0
18 8 INV+1 43 -120 90 7.0[ 7 16 24 O= +6 -110 70 9.0| 9 18 5¢DO-1 4K 100 8.0 8.0
5 7 1a O+2 +Q -140 50 11010 2 14 O+1 vA -110 70 9.0(10 2 5¢0-1 4 A 50 50 11.0
14 4 14 O+2 8 -140 50 11.0({17 3 14 O+1 v4 -110 70 9.0(15 11 5¢ O-1 s A 50 50 11.0
2 17 2NV +2 vT -180 20 140({20 4 14 O+1 *2 -110 70 9.0 7 16 3v N-2 *K -100 20 140
16 6 INV+4 v6 -210 0.0 16.0|15 11 24 O+2 +6 -170 00 16.0|20 4 54DS-2 #A -300 0.0 16.0
1 - 10.5 12 - 8.6 12 - 8.6
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